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Part1 (30x2 marks)

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the
Optical Answer Sheet.

1. Which one of the animals shown below is NOT an insect?

(1 ©)

(2)

2. Which of the following observations show that a guppy Is a living thing?

A It can die. -

B: It has fins:

C: it feeds on fish-food.

D:. ltis found in the water.

(1) Aand B only (3) Band C only

(2y)Aand Conly. - (4) B and D only



3.  Which one of the following objects can be bent easily without breaking?

(1) Aglass cup

(2) A wooden ruler

(3) A cotton towel

4. Sherman wanted to classify the Rose plant and Maiden’s Hair Fern into two
groups. Which of the following group(s) is/fare INCORRECT?

A) Plants
. |

r
Flowering

B) Plants

4

Non-flowering

I
Have leaves

(1) Aand B only
(2) Aand C only

No leaves

Has seeds Has spores

D) Piants

f
[ [

Water plant Land plant

(3) B and D only
(4) C and D only

5. Which one of the following is the function of a leaf on a plant?

(1) makes food

(2) takes in'water -

(3) holds plant upright
(4) takes in mineral salts



Muthu accidentally broke part of the roots of a green bean plant while planting it
in a pot. What is likely to happen to the plant after 3 days? -

‘%.QT

(1) The plant will wither and die.

(2) The plant will continue to grow.

(3) The leaves of the plant will all fall off.
(4) . The leaves of the plant will turn yellow.

What is the main function of the large intestine?

(1) 1t removes digested food from the body.

(2) It removes undigested food out of the body.

(3) It allows digested food to be passed into the blood.

(4) It allows water to be removed from the undigested food.

Kyle wrote the following descriptions about an object.

« Itis oval and soft.
¢ ltis bright blue.
o It bounces and makes a sound.

How many senses did he use in order to come up with the aescriptions?
(1) five (3) three
(2) two (4) four -
Our body is made up of the following systems:
A: Circulatory System
B: Skeletal System

C: Muscular System
D: Respiratory System

Which of the above systems are involved when you are chasing your friend in a
game of catch? -

(1) Aand D only (3) B, C and D only
(2) Band C only ' 4 A B CandD



10. Britney poured 200ml of water into 2 similar beakers A and B. She then placed
a plant in beaker B and placed both beakers on a table near the window.

Britney took the plant out from beaker B after 2:days. Which of the following
diagrams show the most likely amount of water left in the 2 beakers?

1)

200mli 170ml

2)
170ml
3
) A
200mt
4)




11.  In.which one of the following will the two magnets push each other away?

(1) N S N S

@ [s]|[n s |

) sl |s

4 N S

12.  Which one of the following can be attracted by a magnef?

(1) steel ball (3) plastic ball
(2) rubber ball L (4) wooden batl



13.

14.

Lisa used 4 similar ring magnets P, Q, R and S and made 3 setups as shown in
the diagram below.

s

Based on her observations, what conclusions can she make?

A: All the like poles of the magnets are facing each other. _

"B Magnet P has a stronger magnetic force than Magnet Q.

C: Magnet R has a stronger magnetic force than Magnet P.
D: The magnets ‘floating’ above each other are caused by the repulsion.

(1) Aand C only (3) A, B and D only
(2) C and D only (4) B, C and D only

Mary has 4 different magnets. She brought each magnet near 20 paper clips.
She counted the number of paper clips attracted by each magnet and
measured the distance between the magnet and the paper clips as shown
below.

<«——distance——————»

Type of Magnet Number of paper clips Distance {cm)

- Bar 18

U-shape . 10

9
Ring 5 - 3
5
7

Rod 18

Based on the table above, which magnet is the strongest?

(1) Bar (3) U-shaped
(2) Ring (4) Rod



15.

16.

Joan wears a woolen jacket to keep herself warm during winter. The woolen
jacket

<+—— woollen
jacket

. (1) allows some heat to escape easily

(2) prevents body heat from-escaping
(3) does not allow cold air to enter at all
(4) takes in heat from the surrounding air

Wen Qiang conducted an experiment with 4 rods made of different materials.
He wanted to find out which is a better conductor of heat. He attached 4
thumbtacks using wax to one end of each rod and heated the other end for 2
minutes. He repeated the experiment for the 4 rods.

thumbtacks — ¥

The table shows his findings.

Rod P Rod Q Rod R Rod S

Number of thumbtacks still
stuck on the rod after 2 minutes

Put the rods in order from the poorest conductor of heat to the best conductor

of heat.



17.

18.

18.

The same amount of boiling water is poured into four similar cups made of
different materials. Which cup of water will take the shortest time to cool?

(1) glass (2) metal (3) ceramic (4) plastic

A beaker of hot water was placed in a bowl of ice cubes as shown below.

hot water

Pl s

Which of the following statements are true about transfer of heat?

_A: The ice cube loses heat to the hot water and melfs.”

B: The ice cube gains heat from the hot water and melts.
C: The hot water loses heat to the ice cubes and cools down.
D: The hot.water gains heat from the ice cubes and cools down.

(1) A and C only (3) B and C only
(2) A and D only (4) B and D only

An iron weight was tied with a cotton string and hung from a piece of copper
wire as shown below. '

copper wire
[ [
— cotton string
~+—

iron weight

When the wire is heated, what will happen to the iron weight?

(1) Itwill go lower as the copper wire expands.

(2) ‘ltwill go lower as the cotton string expands.
(3) It will go up higher as the copper wire contracts. .

(4) . It will remain in the original position as copper is a poor conductor of heat.

~ -

8



20. Look at the picture below.

lamp

book on
table

- Which one of the following explains why Sally can see the book on the tabte? -

Direction
of light

Y

(1) (3)

@ ()




21.

Which of the following shadows is NOT possible to form given that Object P is
not moved and the light source can be moved.

& Object P

A C:
B: D:
(1) Aonly - {3YA and C only
(2)Bonly - (4) B and D only

22. Beng wanted to find out how the length of a shadow cast on screen will be

affected by moving the object to different positions, A, B and C.

.

screen

ob(:t A B C

[ 1

Which of the following variables must he keep the same to ensure a fair test?

A The position of the torch.

B: The position of the object.

C: The position of the screen.

D: The distance between the torch and the object.
E: The distance between the screen and the object.

(1) Aand C only (3) A, Cand D only
(2) A, B and E only (4) 8, C, Dand E only

10



24.

25.

23.

Egg

Adult Nymph

N —

Which animal is likely to have the life cycle as shown above?

(1) beetle (3) butterfly
(2) chicken (4) cockroach

Peggy found two insects of different species. Peggy kept the insects in.a glass

.bottte and covered it with.wire gauze so that the insects would not escape. She

fed them with leaves.

After a week, she found that [nsect A had stopped moving and seemed to be
covered in a brownish shell. Insect B however, looked just the same and there

-were pieces of dried skin in the bottle.

Based on the above description, what can Peggy conclude?
(1) Insect B moulted, insect A did not mouit.
(2) Insect A died because it did not move but Insect B was still alive,

(3) Insect A has a 4-stage life cycle and Insect B has a 3-stage life cycle.
(4) Insect A has a 3-stage life cycle and Insect B has a 4-stage life cycle.

Matter is anything that has mass and occupies space.
Which one of the following in NOT matter?

(1) Air (3) Shadow
(2) Soil (4) Water

1



26. Gopal pumped air lnto 2 footballs. The footballs when fully inflated each have a
capacity of 400cm>. For football A, he pumped 350cm?® into it and for football B,
he pumped 405cm®. Which of the following statements is correct?

PR

Balf A
350cm®

(1) Ball A is heavier than Ball B.

(2) Ball B has 405¢m?® of air inside it.

(3) Both Ball A and Ball B has 400 cm® of air inside it.

(4) Ball A and Ball.B are of the same mass after the air was pumped in.

27. Josh filled 4 similar syringes with the same volume completely with air, water,
cotton wool and plasticine. He covered the nozzle of the syringe with his finger
to.prevent the air inside from escaping. He exerted pressure on the plunger as
far as it can move towards nozzle. Which of the following graphs correctly
represent the syringe that contains the cotton wool?

| | . . plunger
nozzle plasticine o - ar g -

cotton wool

-ev"",:‘,‘; O
[ {2AT v R '}

(1 (3
Rressure on plungey Prasswe on plunger

Volume of air in the syringe " Vlume of ait In the syringe

(2) . 4
Prassure an plunger Pressure on plunger

N\

Yolkime af air in the syringe ' mdﬁmﬂ:&sy&:g*

12



28.

LR

29.

The diagram below shows four similar containers, A, B, C and D, each
containing 200 mi of water with different temperatures. The containers are
placed in a room with a temperature of 25°C.

Container A Container B Container C Container D
holding 200 mi holding 200 ml holding 200 ml holding 200 m!
of water of water : of water of water

In which of the containers will the water evaporate the fastest?

.(1) Container A (3) Container C
(2) Container B (4) Container D

A beaker of ice was taken out from the freezer and the ice was left to melt. After
15 minutes, alf the ice melted and the beaker of water was placed on a heater.
The water started to boil after 20mins. Which one of the following graphs shows

-the change in the temperature of the water from the time it was taken out of the

freezer to the fime the water boiled?

(1) Temperature (°Q) (3) Temperature (°C) .
4 'y
100 T . 100 ;
80 1 : 80T ‘
601 : 60+ :
40T ; 401 :
201 /4 1 201 :
0! 1020 30 40 50 Time 0! 10 20 30 40 50 Time

(2) Temperature (°C) (4, Temperature (°C)

&

100 ] 1007-
80 N 80+
60 H 60+
40 H 40+
0 : 20+
0% 10 20 30 40 50 Time 0

13



30. Two beakers containing the same number of ice cubes were placed on two
. heaters as shown.below. The heaters were set at different temperatures.

Heater set at high Heater set at low
temperature , temperature

Which of the following statements correctly describe the changes in the
beakers?

A: The ice cubes in'.Beaker B will melt slower than that of Beaker A.

B: The ice cubes in both beakers will take the same time to melt completely.

C: The ice cubes in both beakers will remain at 0°C until they have completely
melted. : :

D: When all the ice cubes in Bea!(ér A have melted completely, the water in it
wilt reach boiling point first.

(1) Aand C only (3) A, B and C only
(2) B and D only (4) A, C and D only

14
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Answer all the following questions.

31.

, - Totat Poséiblé
. Components Marks Obtained Marks
Part | 60
Part It 40
Total 100
Part il ( 40 marks)

Date:

Parent’s Signature:

leaf

(a) The caterpillar needs food, water and

(1m)

to stay alive.

(b) The caterpillar eats leaves apd becomes longer and bigger after some time
shows that it can

. (1m)




32. Mrs Tay wanted to buy some containers to store leftover food in the refrigerator.

She has some requirements for the containers.

“them.

It should not be easily breakable.
The containers should not be heavy and bulky.
The containers should be able to hold both wet and dry food.

The containers would altow her to see'what was'in them without-opening

Put a tick (v} ONLY in the boxes beside the characteristics that the container

* should have. (2m)

Characteristics ()
(b) Strong
(c) Transparent
(d) Coloured
(e) Waterproof
4] Elastic
—_—
L.(g) Light |
33. Choose the correct words from the box to answer the questions below.

'Igt‘met large intestine  mouth

smalt intestine stomach
In a human digestive system, name the part where
(a) digestion first takes place: . (1m)
(b) digestion is completed: . {(1m)




34

Stella ate a piece of bread for breakfast. She plotted a graph as shown below
which showed the amount of food that had been digested as the bread moved
through her digestive system,

Amount of
digested food

N

'Smali | Large
Intestine Intestine

Mouth Gullet Stomach

She then.showed the graph to her teacher and he pointed out that there was a
mistake in the graph.

Which part of the g'raph (A, B, C, D and E) is incorrectly drawn? Explain your
answer. (2m)




35. Martha bought a cleaning device designed to clean the outer surface of windows
from the inside. The device uses two magnets as shown in the diagram below.

In order to use the cleaning device, Martha has to hold the handle of the cleaner
that is on the inside of the window and slide it up and down. The two cleaning
sponges will move together.

.glass window

/magnet
3 D —handle of
7 e cleaner

cleaning
sponge
Outside Inside
of the of the
window window

Which two properties of magnets are needed for this device to work? (2m)

2)

b)

c) After Martha had left the device for a week in the hot sun, she found that it
could no longer work. Give a reason what could have happened. (1m)




36. The diagram below shows a frying par.

plastic handle

metal pan

. (@) The handle is made of plastic because itis a. conductor
.af heat. (1m) :

~ (b) The pan is made of metal because itis a conductor of
heat. (1m)

37. Jamie used an instrument fo measure the temperature of water in a basin.

instrument

o i - basin

(@) What is the instrument called?-(1m)

whont (b) Whatis the temiperature of the water in the basin? (1m)

°C




38. Hui Ling wanted to conduct an experiment to find out which material is a better
conductor of heat.

copper glass copper plostic

rod rod rod

gloss capper plastic
rod rod rod
copper copper copper = = =

rod rod rod

Setup C

(a) Which one of the above set-ups should she use for her experiment? (1m)
Setup

(b) If she wanted'to find-out if the length of the rod affects the rate of melting,
which set-up should she use then? (1m)

Setup :_ ..

(c) Name one variable that was kept the same for part (b). (1m)




39. The diagram below shows a gtass of hot tea at 75°C placed in a basin of water
with a temperature of 26°C.

hot tea at 75°C

basin of water at 26°C

a) What would happen to the hot tea after 10 minutes? (1m)

- b) Fill in the blanks to indicate if the hof tea and water in the basin gain or lose
heat. (1m)

Water in_t;asin : _ Hot tea :

c) What could be the possible temperature of the hot tea after 10 minutes? (4m)

40. The graph below shows the change in temperature of a cup of water.
Temperature
(°C)
A

100 + o] E

» Time {min)

%—A\“
ot
8

a) Was there heat gain or heatloss.from A to-B? (1m)

=
C

b) What process is taking place from D to E? (1m)

' ¢) Whatis the state of the water between C and D? (1m)’




41. Anobject S is placed on a table at two different positions P and Q as shown
below. Object S is made up of an opaque square base and a translucent

extension bar.

<«——— opaque
square
base

translucent———=4 -
extension

bar
Object S

A source of light is being shone on Object S af 2 positions, as shown below:

Position P >

Position Q>

Write the letters P and Q in the brackets that represent the shadows formed
with the two positions. (2m)

(@) In order to form a bigger shadow, what can be done to Object S? (1m)

R




42. Study the classification chart below.

Animais

1 ! 7

3-stage life cycle [ 4-stage life cycle

Young Young lLay Lay
mouifs does not eggs eggs in
) moult on land water
) H
Lay Lay
-eggs on “eggs in
land water

Sl

a) Describe Animal E. (1m)

b) Compare animals F and J. How are they different? (1m)

{

C) Which lefter E, F, G, H, J would best represent the dragonfly? (1m)




43. The diagram below shows the stages in the life cycle of a plant.

Choose the correct words from the box to answer the question below.

egqg seed young plant adult plant

Name the stages, A and B in the life cycle of the plant.

A: ' (1m)

B: (1m)

44, Kim read in a ook that the amount of surface area affects the rate at which ice
melts. She decided to conduct an experiment to find out if it was true. Kim made
two bags of ice. The ice in the two bags are of the same mass but Bag A contains
several ice cubes while'Bag B contains one ice block.

Bag B

" a) Which bag of ice will melt faster? Explain your answer. (2m)

]

b) If salt is-added to ice, how will it affect the melfing point? (1m)

c) When salt is added to ice in Bag A, will the ice melt faster or slower? (1m)

!




45, Sammy poured a.cup of hot water and a cup of cold water and covered the cups
with a lid as shown below. After 3 minutes, he observed some water droplets on
both setups. -

- hot water at 80°C cold water at 10°C
Set-up A Set-up B

a) Draw the water droplets in both diagrams to indicate where they are
formed. (2m)

b) {f the room temperature is 20°C, in which set-up will water droplets appear
first? (1m)

¢) Give areason for your answer in (b). (1m)

~ End of Booklet B ~

11
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EXAM PAPER 2011

SCHOOL : SGCS
SUBJECT : PRIMARY 4 SCIENCE

TERM : SA2

Q1] 2| Q3| Q4 [ Q5] 061 Q7 1 Q81 Q9 [010]/Q11[Q12[Q13]014]Q15] Q16 | Q17
3| 2 (3 3 (1 [2 [a 3 |4 4 [3 1 12

Q18 [ Q19] 0201021 ] 0221 023[ 024 25| Q26 [ 927 Q28 [ Q29 ] Q30
3 | 1 |2 3 /1 |4 [3 [ 33 2 |4 3 |4

31a) air 31b) grow 32) b - strong c-transparent e-waterproof g-light
33a) mouth 33b) small intestine

34) Part E is incorrectly drawn, Digestion is completed at Part D and food is also
absorbed into the bloodsteam at Part D. Part E only absorb excess water from the
undigested food and no disgestion takes at Part E. Thus , Part E is incorrectly drawn.
35a) The unlike poles of magnets can attract each other, allowing this device to work.

35b) Magnetism can pass through glass, allowing this advice to work.

35c¢) The magnets could have lost magnetism because of the hot sun and is was heated.
Thus causing the device to no longer work.

36a) poor 36b) good
37a) 1t is called a thermometer 37b) 24
38a)B 38b) Setup A 38c) The amount of wax was kept the same.

39a) The hot tea would lose heat to the basin of water and cool down after 10 minutes.
39b) water in basin : Gain heat Hot tea : lose heat

40a ) There was heat los from A to B

40b) The water was boiling from D to E

Page 1 of 2


Answer Key


Page 2
40c) The water was at the liquid state between C to D.

a1) | |

(Q (P)
413) Object S can be moved closer to the torch in order to form a bigger shadow.

42a ) Animal E has a three- stage life cycle,lays egg on land and its young moulits.

42b) Animal F has a three-stage life cycle while animal J has a foupstége life cycle.
42c) Letter F would best represent the dragonfly.

43) A: seed B) young plant

44a ) bag A , the surface area is greater.

44b) The melting point is lowered.

=3

Set-up B
45b) That will happen in set-up A

45c¢) There will be more wter droplets as the temperature causes it to condense.

---end paper---





